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Quiz #9, Math 116, Autumn 2007

1. Consider the apportionment problem described in the table below.  Find the apportionment under the Hamilton Method.

	State
	Population
	SQ
	LQ
	+1?
	Final Apportionment

	A
	3.31 (million)
	
	
	
	

	B
	2.67
	
	
	
	

	C
	1.33
	
	
	
	

	D
	0.69
	
	
	
	

	Seats = 160                                                                  SD =


2. For the apportionment problem in #1, consider the modified divisors of
a) 0.0505 and b) 0.0493, and c) the standard divisor from above.  Which one can be used for Jefferson’s Method, which one for Adam’s Method, and which one for Webster’s Method?

3. a) Jefferson’s Method favours large states.   True  OR  False

    b) Adam’s Method can violate the upper quota.     True  OR   False

    c) Webster’s Method violates the Alabama Paradox.    True  OR  False

    d) Hamilton’s method favours small states.     True   OR   False

    e) The Alabama paradox occurs when a new state is added to the apportionment.
True   OR   False

4. Consider the following details of an apportionment problem.  Which paradox is being exhibited by the data.
	State
	Population
	SQ
	Apportionment
	
	Population
	SQ
	Apportionment

	A
	213
	4.22
	4
	
	213
	4.64
	5

	B
	220
	4.36
	4
	
	220
	4.79
	5

	C
	72
	1.43
	2
	
	72
	1.59
	1


Seats = 10






Seats = 11
